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Name Date Class
Quiz
Al Section B
Select the best answer. 6. Solve M =6.
1. If g is a vertical translation 3 units F lxlx< g]
up of fox) = 3x + 9, what is the rule for 5
gx? G {x|-24 = x = 24}
A glx)=3x+6 16 39
B g(x) =3x+ 12 H X—?SXS?H
C glx)=6x+9
J Ix g =x= 1_
D glx) =9x+9 5~ 775
. If g is a horizontal stretch by a factor 7. Which function has a vertex at (-5, -7)?
of 3 followed by a translation of 5 units A f(x)=|x-5|-7
up of f&x>) = —7x + 9, what is the rule B f(x) = |x—5| +7
for goo? C flx)=|x+5|-7
F g(x) = 21x + 14 o f(x): X 7
G glx) =-7x+ 14 ) =[x+7] -5
_ 7 8. If g is a horizontal stretch by a factor
H g(x) 3X T4 of 3 of f(x) = | x| — 4, what is the rule
J g0 = ~Lx+ 14 for g0x)?
_1 _
. : o F gx)=L|x| — 4
. Which equation best fits this data set? 3
G gx) =3|x| — 12
1 S H gx) =3|x| — 4
5 1 | 15 J g(x)=3|x|—%
Ay—3, 1 9. If g(x) is a horizontal translation
y=2%"3 6 units right of the absolute-value parent
B y=2x+3 function, which is the rule for g(x)?
Cy=3x+2 A gx) =|x— 6]
Dy-3 B g(x)=|x+ 6|
Cgx)=|x|—-6
. Solve 6x = 18 AND 4x — 3 < 13.
D gx)=|x| +6
F all real numbers _ o
G {x]x= -3 10. The graph of which function is the same
H {x]x<4) as the graph of f(x) = ‘1X|’?
J {x -3x= x< 4} F gx) = ‘_17‘
. Solve |x + 7| = 11. G o) - |1‘
A x=-18 I =%
B x=-11 H g(x) = |—x|
Cx=4
D x=4o0rx=-18 J gx) = —|x|
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Answer Key continued

CHAPTER 2

Section Quiz: Section A
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Section Quiz: Section B
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